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) SINDHIHIGH SCHooL, P
HALF YEARLY EXAMINATION (202
SUBJECT - English

IR DA A a1 L

Class: vi| Marks: 80

Date: 04/10/2023 Readings'.rime: g:30 to 8:45 irg am
lill_mber of printed sides: § Writing W
GENERAL INSTRUCTIONS:

1. Tl}is paper consists of three sections.
Section A Reading - 20 marks

Secti_on B Writing & Grammar - 20 marks
Section C Literature - 40 marks

2. Attempt all questions adhering to the word limit.

® ks)
SECTION A (READING) (20 Mar s 1x10=10)
1. Read the passage given below and answer the questions that follow: (

_— : on 26" Ap['ll
I. William Shakespeare widely considered as the greatest WEICE : ais bor;l{is vocabulary,
1564.He plays a significant role in the evolution of English vocat afl:yur imes that of an

as selected from his works crosses 17,000 words in number which is 10

increased the number
average well-educated conversationalist in the language -He & Sailyanee:
of words in common use.

2. The outstanding feature of him was his command over language. shak; L hgd;};la.»rse
formal education and even without a dictionary to consult, he systen}attcall_y studie di; 5
own language. Shakespeare was well known in his life as a rapid writer. His mmfl e 1l
went together. His publishers reported- ‘What he thought, he acted with easiness.

3. Shakespeare used some famous quotes like — ‘All that glitters is not gqld ’—_ (from The

Merchant of Venice), ‘Jealousy is a green-eyed monster’- ( from _Othel{o). in his plgys. He

& wrote around 38 plays and is credited by the Oxford Englzs'h dictionary with Fhe

introduction of nearly 3,000 words into the language. He introduced words like
apostrophe, baseless, amazement, dislocate etc.

4. Shakespeare’s works have proved to be sturdy, unshakeable through the centurigs
transforming to newer forms. His works are reinterpreted in diverse cultural contexts. Hls
plays have lent themselves to film adaptations including the Vishal Bharadwaj’s movies
Magbool ( Macbeth) and Omkara ( Othello).

On the basis of your understanding of the above passage answer each of the questions
given below with the help of options that follow:

1. According to the passage, the word not introduced by Shakespeare was
a) amazement ¢) apostrophe
b) dictionary d) baseless



s a green-eyed monster.’ is from his f

. Ioalousl.l’ amous Play
kespe” g quote
3 Shakes| ‘ A ¢) Macbeth
s I ¥I\n1-v;-¢lmni anC”iw d) King Lear
a) Ihe
i) Othello 9
il gre O ¢ .
1 When Was Shakespe ¢) 26" April 1645
) 26° April | 540 d) 26" April 1564
a) 20"/
b) ZH"APHIihSJ plays
- . ﬂ[‘()un i
4 Shakespeare ¥ rote ‘ ¢) 3000
2 17000 d) 1546

b) 38 ; y
this writer Was _

5 The outstanding featur of '
: ¢) his command over language

a) his ability to us¢ enact il s

b) his physical appearance

6. Which option comes closest to the meaning of the word “sparse” from the given
).

options’

a) alot

b) too much

¢) very little
d) neutral

7. What did the publishers report about Shakespeare ?

a) They said that he acted with ease c) They said that he was arrogant
b) They said that he acted with dizziness  d) They said that he had no knowledge

8. Shakespeare’s quote- “All that glitters is not gold” means

a) looks are deceptive c) all that glitters is valuable
b) worthy objects looks beautiful d) gold that shines enables value
9. ____isa Indian drama film adapted from William Shakespeare's Macbeth.
directed by Vishal Bharadwaj.
a) Magbool b) The Blue Umbrella
) Rk d) Haider

10. Find the words from the Passage which mean the same as-

a) fast (para2 )- b) important (para 1)-

I1. Read the following passage and answer the questions given below. (1x10=10)

4 Shl:?l cleonls e eEnge their skin colour, bu not because they choose to. The chameleon
P Ef: ZO. our‘t?l l}elp itavoid its enemies, It is a form of camouflage, 2 disguise that allows
nd In with its surroundings, The change is actually determined by environmental



factors such »- |ight and temperature,

| L e l.cc_through-

2. S0 how exactly do chameleons change colors? The outer 12Y¢! 0 ; blfmﬂ:;:gives e fo
Beneath that are layers of special cells ﬁllfa:dh ith it ent—1he SUbSt.anfle ds a message for
and animals (including you) colour. To-diq ]?\lm a plgvn:i"lour’ ¢ bfﬁ‘f‘_"’cr:n:c sene
these cells to get bigger or smaller. As thi.;r;lag (.:: pigments o ,
released, and they mix with each other to crcaur:) ncw skin tone- ‘

pigment may mix to make the chameleon look purple.
reamy colour. The

ange 15 [‘apld
feon.

r fades L0 @ ¢
ared. The colour ch

3. Bright sunlight darkens the skin. On cool nights, the colou
ched by another chame¢

colqur changes when the chameleon is excited, angry or 8¢
and increases when the chameleon is handled, injured of approd

ica

4. There are many types of chameleons. Almost half of them 21¢ found on the Agls?a L

Madagascar. Others occur mostly in the Sahara desert, with a few in b large
southern Europe. Chameleons live in trees, where they usually eat insects. Very 1arg

chameleons can even use their sticky tongues to catch birds.

n island of

1. What is thg reason for a chameleon to change its skin colour?
a) To attract its prey ¢) To blend in wi
b) To communicate with other chameleons d) To show off its beauty

th its surroundings

2 What factf)rs determine a chameleon’s colour change?
a) The fpod it eats c) Light and temperature
b) The time of day d) The size of the chameleon

3. How does bright sunlight affect a chameleon’s skin colour?

a) It lightens the skin ¢) It turns the skin blue
= b) It darkens the skin d) It has no effect on the skin colour
4. In which type of habitat do chameleons primarily live?
a) Underwater ¢) Grasslands
b) Desert d) Trees
5. What do chameleons usually eat?
a) Plants ¢) Fish
b) Small mammals d) Insects
6.How do chameleons catch their prey?
a) By using their claws c) By using their sticky tongues
b) By using their teeth d) By using their tails
7 Where are almost half of all chameleons found?
a) Africa ¢) Europe
b) Asia d) Australia



1 gkin colour when it's excited, angry, or scared?
¢) It changes rapidly

hameleon *
d) It remains the same

8. What happens {0 ac
a) It turns yellow

ns blue ‘
b) It turd neleon’s camouflage?

¢) To avoid its encnuies

acha
d) To regulate body temperature

9, What is the purpose @
) To attract its prey
a) To attr I o

eleons
; er cham
b) To communicat® v oth

ol with their sticky tongue.

10.Very large chameleons A% —=""" oy flowers

a) birds d) animals

b) insects

| ¢
SECTION B- WRITING AND GRAMMAR (20 Marks)
the information provided below, write a bio-sketch of Abraham
5)

[11. On the basis of

Lincoln.
Born: 1809 in Northern Kentucky
wealthy farmer, lost his Jand when Lincoln was 7, moved to Indiana

Family: Father-
J when he was nine, family moved to Illinois soon after

Mother - die
Little formal education, loved to read. Studied law by reading law books - became

Education:
a lawyer in 1837, Springfield, Ilinois
Political Career: Began carly- served in State Legislature, in the U.S. House of

Representatives. Gifted Speaker, speeches against slavery, nomination for Presidency- won in

1860. Re elected in 1864.
Death: Assassinated by John Wilks Booth on April 15, 1865. Remembered for wisdom,

compassion, patriotism,

IV. Look at the picture given below and write a story in your own words by giving it a
suitable title. The starting line of the story is given. C)

Finally Sam’s exams got over and his holidays began. As promised his parents

61 PN . G



l" the blank by choosing the correct option :- Im
k
I was (play/playmg ) in the park, when my father _____(called/calling)
2. | Fill the blank by choosing the correct option, to complete the line :- Im |
, k
My sister —___In America now.
a) live c) lives
{ b) lived d) living }
K } Select the most appropriate option : Im
packets of food did you take for the picnic ? |
i a) much ¢) many !
/ b) more d) most |
. i
4. Raveena received a medal for the bravery shown’. Im |
The nouns in the above sentence are and |
, i
| |
5 |
,." 5. | Fill in the blank by using the correct form of the word given in the bracket, for m_?
the given portion of a letter :- [

||




T Tyanr (o0 B b i
e o by (he B 00 God 1k you o much for the pifl Vi
{ n

¢ you are fh

|
had . (sond)
e ntlly mitlll:I ' ""'l' Supply suitable corvection -
) UL LY sy WHD C Coneh wag minc ol ‘ :
6. | Roadt The boys (0 Nj‘lyu'll‘i'nir Was practising for their match,
e ' Correction

e b I the DIaRK given helg
) N v Y v'\ct a(lvolhl w.
7. | Choose the corre
("“““""y/ frequently) bought o new laptop,

We_
8. | Fillin tht‘blnnkbv using (he correct lorm of the word in the bracket,
Last year, Lydia _(is) the captain of the school basketball tcam.
9. | Complete the sentence by using a suitable form of comparison of the adjective | fm |
given in the bracket. P {I
Our trip to Andamans was the _____one we’ve ever had. (enjoyable) ’
10. | Identify the error and supply correction for the following proverb, | tm | |
‘Actions speaks louder than words> |}
Error ] ] _ Correction
| | |
% |

SECTION C - LITERATURE (40 marks)
VI Read the extracts given below and answer the questions that follow.
A)“Amma, didn’t you tell me about Karna who gave away everything he had, even his
gold earrings, he was so kind and generous?” (1x4=4)

1. Which chapter have these lines been takep from?

a. Gopal and the Hilsa fish b. A gift of chappals
¢. Golu grows a nose d. The tiny teacher
R LI Ve s ¥




\

.
‘@ \ 5 Why was thi® sentence told?

!

4 :
The meaning of the word - Eenerous:

. “ h“ W 'M !tpl)‘ ‘l\‘"m -

a Becav'  tukku Mang; had 1ol

a R‘VI WAy

- shmmm ve “"!’ h':l *“m MMM
: own things
d. She said tha . “"m!; would fi o e

"
a sel S
selfish b. liberal p— 4. stingy
i ~mm;’ (1rd=4)

Say, “Thank you™.

Don't in

Noauclﬁtuh,.,.m

Take your eibows off the rafte~
. The above instructions from clders seem to -

- d“mmminly ¢ offend mast of the children

b. offend the clders d make the children joyful
2. Name the poem from which these lines have been extracted

a. The Shed b The Rebel

¢ Chivvy d The Squirrel
3. Who s the poet of this poem 7

@ : Michacl Rosen b Frank Flynn

¢. DJ Enngh d Mikdred Bowers Armatrong
4 When should the children say “Thank you™?

a. When they have to sit down ¢ When they want o talk. |

b When they are grateful for something d When they docade 1o go home.
Vil Answer the following in 20 to 30 words. (11 %14
) “wummbmmmﬂhumkw“’

Why "mdmluwn-hcls‘?
. . wnmmmwmnw
3. Whet b e ﬁdwuwwinm'wuuu.ﬁ.
4 ‘On getng the §

*

mnm-
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B SUBJECT. SCIENCE Max : 2 hrs 45 mins
Class: viy g
Date: 03.10.2023

Reading Time: IVS ;:i.m
0 s Writing Time: 27

e —

General Instructions:
. The Question pa
2. All questions a
3. Section A has
Section B has
Section C con

Per containg five «

stions.
‘eClions and 39 quest
re C"mPUIS(:ry,

20 objective YPe questions of | mark (,a(;‘h
6 very short questions carrying 2 marks cach. 3 marks each.
sists of 7 shon answer type quesliops caffY":ES each.
Section D has 3 long answer lype questions carrying 5 r’:a i, ‘
Section E has 3 case study units of assessment of 4 ma :has to attempt only one of
4. Internal choices is provided in some questions; A studen
the alternative questions should be attempted.

SECTION -A ‘ EE RX
Q. no 1 to 20 are objective type questions 1
1. | The symbol of sodium is-
(a) So (b) Sd -
(C) Na (d) NA

- IR "_‘
oxide. lution of this oxide tums
2. | The element Z burns in air to form an oxide. Thc aqueous solu
' red litmus to blue. This element is likely to be:

(b) Sulphur |
(a) Carbon il
M f( g Mayt;!::niclc's”&ilfé&f“ i
I sed of very smx:
> h(/::;t:::)rl: e (b) element ;
(c) molecule (d) compoun | — 1
ith 3 protons and 4 neutrons will have a valency |
4. | An ;tom w e |
@) @

- vered | 1
heating gets convert
ice is heated, it changes to water and water on further heating

When ice 18 ’ - |
) i Whabstramcel _“mm — (b) No new substance is formed
w o d) Both (b) and (c) are correct.
S Supha.se changes to liquid phase  (d)
(c) Gaseous

ing soda 1s:
ical name of baking _ N
6. | The chfu“r“:c:\(dmgcn carbonate :db)) caso]::ﬁ hvcarbona
(a; sc“:l::ium carbo- nate drogen carbonate
(c)ca

l ing is a chemical change?

Whi the following isac | -
iy chair (b) filling a glass with orange juice
lifting up a .

i(!I)) ooking a pot of rice (d) bursting a balloon
({c)¢




e

1 11ic site of com

g

e “(‘}mﬁon 1 poured over a decolourised green 0. ¢
Wht‘"’ dilute indl"‘?' rod”ccd' This shows the green leaf containg |
k¢
blue-blac
SUCrose.

08¢
(a) gluce” d) = p i

) ccllUl“sﬂ.’m-*"‘d‘igcsfi““ and absorption of food in the human digestive
C) v p|¢|»: (h) Jarge intestine

(a) SOMAT 1 rectum

e

olouf

gystem (& : !
Lc)smﬂ,“l‘l'f?g'ni' ~Tin the Saliva CONYer |

= ¢s pre
[he enzymes P 'dsandglyccml (b) starch into simple sugars

_{d) simple sugars to starch _

7 . o Gialysis, he is most likely suffering from a severe ailment of the: |
If a patient is put " . (b) respiratory system

(a) circulatory $YSt° d) digestive system

¢) excretory S St:hTough roots can be increased by kccpivng't}lré p;mcd _;;lam.x

Water absorption (b) in dim light

13.

(a) in the S:adr;n d) covered with a polythene bag
E;:n 9m::1;:!l2t 0°CE dropped in a mug containing water at 40°C. The heat will: | |
iro

ball to waler.

m iron . :
(a) flow fro 1 ball to water of from water to iron ball

(b) not flow from iro ]
(c)flow from water to iron ball .
(d) increase the temperature of bo g o

14,

The woollen clothes keep us warm dufing winter because: |
A) Wool is an insulator B) Wool is a conductor |
C) Wool traps air D) Wool has vacuum

@AandB (b)BandC (c) CandD  (d)Aand C

13.

At the time of the short circuit, the current in the circuit: ‘ [

(a) reduces substantially (b) does not change
(c) increases heavily (d) varies continuously

16.

In a filament-type bulb, a lot of electrical energy is wasted in the form of: R

(a)heat  (b)sound  (c) light (d) magnetism :

Q. no 17 to 20 are Assertion - Reasonwingml.ns-éd qﬁesliom.
In the following question, a statement of Assertion is followed by a statement |

of Reasoning. Choose the correct answer from the following options.

2) Both A and R are true & R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
¢) A true but R is false.

d) A is false but R is true.

sy

Assertion (A): Dark coloured objects absorb more heat than the light coloured | 1
object.

Reason(R): We feel more comfortable in light coloured clothes in the

summer. ISR M—

Assertion (A): Bulb filament is made of tungsten. &

Reason (R): The filament should have low ﬂe_lt_l_E&P_"L"_'_——-—————’*— —

2



19.

As. tion (A): Insectivorous habitat of plants is to COPC UP
Reason(R): Insectivorous plants are partjy autotrophic 2nd
20.

v heterotrophic.

with oxygen deficiency.

Assertion [A]: The atomic number of Nirogen is 7-

i the number of
Reason [R]: The atomic number of ap atom is the Sum totalfczie sitwi
protons and neutrons present in the nucleus ©

Q. no 21 to 26 are very short answer questions
21| Classify the following into elements and compounds:

SECTION-B

12
) MgQ i) He iii) Cl iv) H.0 2
22. | Draw a neat labelled diagram of human excretory system- T
23. | Write any 2 differences between arteries and Veins. |
| 2
24, | Name one example cach for the following:
i) An autotroph
i) a saprophyte
iii) symbiotic plant .
iv) a partial heterotroph : Vi .“.
25. | One end of the objects such as a steel spoon, plastic scale, a pencil and a dl.‘illder | 2
are put in a beaker of hot water. In which of these objects the other end will get | I.
hot? Why? : 4
26. | What is the role of mucous and hydrochloric acid in stomach? i 2 '
SECTION-C ';
Q. no 27 to 33 are short answer questions ! -
27. | An element ‘X’ has mass number 11 and atomic number 5. Name the element l‘. 3 |
‘X’ and find the number of protons, neutrons and electrons in this element. \ !
|
28. | Observe the given picture and answer the questions. \i\ 3 %
‘l '
‘.
\l
tron nail |
copper sulphate solution
a)

What colour change will you observe in the solution and on the nail after
dropping an iron nail into it?

b) Why do we observe the colour change?

¢) Write the word equation involved in the above reaction.




L

A wl
man body has 0)3-"" nti Neh acts as a pump. The organ A pumps
je body continuously The liquid B supplies the use ful

20, [The
) ho
Il uid B into the wh
q nd D 1€ oall the body cells and removes a waste | from the body

| eubstancm C an
' | cells. L
a) What are orgal 1 A (: hj.l:;‘:;}?
b) what is the ¢© olour of 14
ful ubqtanccs Cand D

/ ¢) Name the u‘u‘
d) W What is the w2 ——
l’— ol lwn cells Lruh are shown be ltm Draw lines to indicate

0 a) Two 5cpan“° s¢
how you will ¢ onnCCl their terminals with wires 10 make batteries of two cells
/ cach. (draw cells and then connect)

the importance 97 of US'“S '“"C ina h()uschnld clgum (.II'LUH

method by thCh heat is transferred:
and when placed on a cold iron vessel.

l a) from a man ‘sh
b) from the sun to the earth.
+c ¢) from the bottom of a hot liquid 10 its upper cooler parts. |
Describe the blowing of sea breeze and land breeze in coastal arcas with the hLl[\ '
of labelled diagrams. i
Draw neat, labelled diagram of the nutrition in amoeba.

[
SECTION-D
34 to 36 are long answer questions

3
i

13
i
i

J
i b) Wnlc
| Menllon the

4

Q no
34. | a) Derive the molccular fnrmula of the following compounds using steps
(i) Calcium hydroxide (ii) Ferrous sulphide
atom and mention its atomic number and

| b) Draw the atomic structure of sodium

clucnonlc con__gurauon

a) ldennfy A.B and C.
! b) Write the functions A, B and C.
t ' ¢) How does our tooth decay? _ y

30,

'36. | a) Draw and explain how to make an clcclromag,ncl
/ b)MenmmﬂlenmﬁctaSonMuchdrsumglhofmcnngzuxﬁcldofan

" electromagnet depends.
FE TN ‘ I

p

|

]
P
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1

|

37.

—

e

1
|
|

|
[

\

SECTION-E
—— Q.no37to39 arev
= A A AR

hemical change pr E"‘““‘"Ezﬂﬁ!l?[tﬂwﬂ qug_S.t_]“!!i" sical change does
ot produce any 3; ! hl(‘) uces a New substance whereas a p ]'y\hll"h' “ck:muﬂ;
b e i Cu\‘r substanctf. l'o understand how fl‘Physu,a ¢ <}1 g e
_ . fystals and dissolve them in water. The water becomes sweel
NS, Wh.l o ?hows that molecules of sugar are present in water. Evaporate the
\ sug.ar S(?lutlon. in a china dish gyer a Bunsen burner or a spirit lamp. A white
| residue is obt.amed I the china digpy All the properties of this residuc are identical
\ to sugar, which was earlier dissolved in water. Thus, we find that in this case no
new substance is formed. Hence dissolving of sugar in water is a physical change.
Change in state or phase are phygic,| changes such as melting, freezing,
vapourisation, condensation and sublimation. A chemical change resulls in
substance that was not there before.

t ) A sheet of paper was torn into picces and then burned. What changes does ’)
this sheet of paper undergoes? Explain,

b) Define the following terms:
1) Galvanisation
i 1i) Crystallisation

Transportation in Plants is depicted in the given picture. Observe the picture and‘*‘—-_-_
| answer the questions that follow:

a) Name the vascular tissues presents in plants.

b) Write the functions of both the above-
mentioned vascular tissues.

—_— N —

¢) The tip of the tall trees also receive
water for photosynthesis. Justify.

35

A thermometer is an instrument used to measure temperature. You can measure
the temperature of lots of different things with a thermometer, such as the
temperature of a room to see how hot or cold it is, the temperature of a person
to tell if they are sick, or the temperature of food to check if it is

cooked. Celsius and Fahrenheit are two different scales mostly used for
measuring temperature.

a) Define temperature. \
b) What is the range of: i) Clinical thermometer and 2
i1) Laboratory thermometer \ \
¢) Why does the Mercury level not fall on its own when the bulb of a clinical \ )\ \
| thermometer is removed from the mouth? ,




SINDHI HIGH SCHooL, BENGALURY
i HALF YEARLY EXAMINATION 0B}
-~ SUBJECT: MATHEMATICS

Class: VII Max Marks: .

Date: 06 /10/2023 Reading
No. of Sides: 05 writing T

n : 2 hrs 45 mins
Time: 15 mins
jme: 2% hrs

Duratio

GENERAL INSTRUCTIONS:

This Question Paper has 5 Sections A, B, C) P and E.

Section A has 20 MCQs carrying 1 mark each

Section B has 5 questions carrying 02 marks each.

Section C has 6 questions carrying 03 marks each.

Section D has 4 questions carrying 05 marks each.

Section E has 3 case based integrated units of assessment (04 marks
each) with sub- parts of the values of 1, 1 and 2 marks each.

All Questions are compulsory.

Draw neat figures wherever required.

*

Section A ‘ ’}
Section A consists of 20 questions of 1 mark each.
L The reciprocal of g is ;
3 4 2 '
2 | The product of -3 and -5 is \ 1
a) -15 b)-15 c) -8 d) -2
3 The height of 5 students in the class is given as 1
120cm, 110cm, 101 cm, 110 cm, 103cm. The mode of the data is
a) 120 cm b)110 cm ¢)101 cm d)110 cm
4 |3.452x100= 1
a) 34.52 * b) 0.3452 c) 3452 d) 0345.2
5 The temperature at Ranigunj at 3 pm is 15°C. Every hour the temperature 1
decreases by 2 °C. What will the temperature beat 11 pm.
a) 10°C b) 2°C c)-1°C d)0°C
7
2 11 15 3
a)ll - b)3— C)T d)S;
7 | Simplify 2* x 3 # 1
a) 36 b) 25 : c)6* d) 6°
8 | The median of the first 9 even numbers is 1
a)5 b) 9 c)10 d)2
9 Golu is 5 years more than twice Seema’s age. Golu is 25 years old , so Seema is |1
a)5 years b)10 years ¢) 15 years d) 9 years.

Page -1



es are Ga“ d a

Two angl ex
a)They haveac o gles 18 180
e of their 272 .
b)The differenc les is 0
¢)The sum of th eir a“g o1 o°
d)The sum of th eir ang
. p is the transversal .Which of the given 1
In the followin
statements is false J\F
n1<€ 3 K —
2=90° " . 63 =7
a) 23 = £5 b)/';:i? - \
¢) &3 =4 d) <
base is 1
12 | In 3% the base 1 s ¢)9 48
2)2 = Fihe given solid is I
13 | The number of vertices ot th€
T a1 b) 14 )16 h1g <
[4 |4 subtracted from 9 times X is 1_4. . 1
The above statement as an equation 1S
a)d - 9x=14 b) 9x —4 =14
c)(9—x)-4=14 d) (9-4)x=
15 | Which of the following form a pair of complementary angles 1
a) 120°, 60° b) 30°,60° c)40°,60° d) 45°, 35°
16 | (—2)*= 64. The value of x is
a) -8 b) 8 c) 6 d) -6
17 | The solution for the equation 3 —5x=23is
a)x=4 b)x=2 ¢)lx=3 d)x=-4
18 | The cross section obtained when a die is horizontally Cuk
a) square b) rectangle c) triangle d) circle
19 | Assertion : 7 x (-4) =-(7 x4)=-28
Reason : The product of two integers is always positive.
a) Both Assertion and Reason are correct and Reason is the correct explanation of
assertion.
b) Both Assertion and Reason are correct , but Reason is the not the correct
explanation of assertion.
c) Assertion is correct but Reason is incorrect.
d) Assertion is incorrect but Reason is correct.
20 | Assertion : The solution for the equationy +3=10 isy =7
Reason : Subtracting 3 on both sides we get
yt3-3=10 -3
y=17

Page - 2



Wt explanuuuu .

—--«---——u—-—-'—'—' '—_'_" e ——— — -s
n and Reason are correct and Reason !

a) Both Assertio

21

I

22

g

d) Assertion is in¢
SECTION-B
arks each

A batsman scored the following runs in ' _
numbers ///’/’f/le,s‘

an
40, 67, 52, rld2 Ll e aal Find the measure 0 g

assertion. "
ion and Reason are correct , but Reaso

b) Both Assert
explanation of a

sertion. .
¢) Assertion i correct but Reason 15 incorrect.
orrect but_Reason 15 corm/’/
s incorrec: 2= ———

Section B consists

4V,
In the following figure [ [ma

x and y

re folded up

shape got when the following nets @

Name the solid

a) b)

24

Find the value of {—6x(=7)x8} + (-2)
Find the measure of the other

25

An angle of a supplementary pair measures 82°.

angle.

SECTION-C

Section C consists of 6 questions of 3 marks each

26

[dentify the property
2)12x (:3)+5x(:3)=(3)x [12+5]

b) [(=17) + 6] +(—83)) = (-17) +[6+ (-83)]

¢)(-25) X 56 = 56 X (-25)

27

The followipg table show the number of students in class V to
class VIII in our school. Represent the information on a bar graph

¥ VI VIl VIII
35 32 37 42

28

In a class test consisting of 20 i '
. questions ,4 marks are giv
answer , | mark is deducted for every incorrect answe;g anfiinof?r i .
questions not attempted . Answer the following questio SEELIR
E) l;dohlt gets 6 correct and 6 incorrect answers . What 1;1?1 ?
) Meena gets 30 marks . If she had attempted 8 correct qlizsst(_:‘)re _h
_ 10ns ,how many

questions were wrong?

Page -3



iINg 3 correct anew, '
getting rrect answers . How many questions did

¢) Rahul got (— 1) inspite of
he get wrong.. B S— e |
29 | Solve o sa-7_, 3

h 4
a) =7 / i
0 . = e ——— —— . .
Thelproduct of three numbers 1S 0.234.1f tws, of the numbers are 0.12 and 3 , find ' 3
the third number. OO UR
sior3 o ' s

a)Which is greater

b) The speed of light 15 300,000,000 metres per secong Express this in its

standard form . e LERER
SECTION.p

___’________’————-——_~__
Section D consists of 4 questions of 5 marks each
e

32 | Fill in the blank
_2 (Imark)

3
a)Sx-—— 20

(98]
o

—
b it
w
—_—

—

b) ;2-— (Zmarkg}
’

4 — - - :
£

c) 251 =
33 | Form equations and solve. ] ‘
a) Ramu is 2 more than 3 times his s0n’s age. [f Ramu is 32 years old how old 13

his son?
| b)Subtracting 7 from a 4 times a number gives 29 . Find the number
—

[34 ’a)landmarctwolinescutbya Fy
transversal t. Find whether | || m /

b) In the given figure E F || GH. Find the value of
v).CAF

i) 2 ABC ii) LACH iii) £BAC
- A
- 7\ —
\\
“C 0 c W

a)Express 416 as a product of prime numbers in exponential form

35
23x3%x32

b) Simpify using laws of exponents
32x4

|
fr SECTION-E

I Section E consists of 3 case study based questions.
736 | Rahul's school conducted the term | and term 2 examinations. They had 4
fmbumadauunmrksomxmmmmndmﬁculmmwwm 1
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e

e

when it was in the tabular form 8o they represented the marks ot mdividual .}
. \ A ,

18 i a double bar graph.
3 L

R
[huaen

Ohserve the double bar graph and answ, the questions.

we

S

mTerml

OTerm 2

Maths Science s.sclence

Englsh Nindi
2) Name the two subjects in which Rahul scored less than 70

wn term 1.
b) In which subject has Rahul shown most improvement and in which subject has

' his performance gone down.
<) What is the total score of Term2 English and S ¢1@nce
ol 4

37 | Plaving with clay is great fun. Students are asked to make models out of clay as

; it improves their motor skills and hand eye coordination. Gopal and his friends
were trying to make solid shapes with clay.
a) Raunak made three cubes of equal dimension 2ecm X 2 cm /

| x 2cm and placed them end to end. What is the name of the /

| resulting shape that he got and what are the dimensions of the

| shape.

| b) Mohit placed a pyramid over a cube. How many faces and

| vertices are there ?

| ¢) Geeta made a_cylinder . Draw net of the cylinder.

| Ronu is organizing a birthday party . She has invited her friends

for the party.
a) She was decorating her room. She needs 7 strips of satin

ribbon each I%m. What is the total length of the ribbon she needs

to buy?
b) 20 pasteries were ordered. The total cost was Rs 870.What is the cost of each

-

| pastery?
' ¢)3 % litres of mango juice was prepared. It was poured equally into glasses
such that each glass had % litres of juice. Into how many glasses was the juice

N poured? r~

3 3 3 sk o ok sk ok ok ok ok k3 ok ko ok ok ok sk R ok ok sk ok ok sk ok ook kok ok ok okok kR ok ok
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7T,
\t M:mn’uu;u SCHOOL, BENGALURL.
Aol alf-y nﬁdy Examination (2023-24)

SOCIAL SC1ENCE
Class: 7
Date: 8/ Marks: 80
No. of “::20:3 Reading Time: 8.00-8.15A M
‘mumﬂm Writing Time: 8.15-19 YaAM

Read the follow
Ollowing instructions very carcfully and stictly follow them

I Question paper oup
Questions in the q"cm sed five sections ABCD Fand F There are 88
100 paper. All questions are compulsory

I Sectic ‘
M A = Question 1 1o 20 are Objective Type question of | mark each

L Section B
clm’ms‘lnwhet’?m OF 21 10 24 are very short answer type questions

B T PP

" Minhaj-Siraj wse 1o write chronicies i which lanacss -

e NS i e T—
. S U——

;
£
|
5
i
|




B —

- m_._,-.l..ﬁ-;ﬁ,;d"ﬁ: frahmanas Was recorded 00 ‘
g \ b. Iron plates
2. Salver pt
S d. Bronze plates
¢. Copper PRI e |
MW her or his capital at Delhi? 1
A |
2 Sisodiya Rajputs b. Tomara Rajputs
o Survavanshi Rajputs d. Solanki Rajputs
- viom & Babur defeat 10 capture Delhi and Agra’ 1
a. Genghis Khan b. Humayun
¢. Ibrshim Lodi d. None of these
6 Identify the Sindhi politician who claimed “for every one Hindu that
| | has left 1 come m™.
has left. two Muslims have In :
2. Asif Ali Zardari b. LK Advani

c. Mukesh Kumar Chawla d. Ayub Khuhro
;7 : At the time of partition, Hindu Sindhis were NOT concentrated in
| thiscity.

éa. Hyderabad

; Kharaj was a type of tax on

i a. Houses
i

c. Cattle d. Cultivation |
' Care-giving tasks are associated with _ i

b. Kanchi
d. Sukkur

mf

b. Trade 1

—

g

-
—

10 Rosa Parks was

a. A German Woman
b. An African American Woman

C. Awwmmu‘em

d. None of these B

— i

o= e
i
e ——
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11

Girls in Samoan Islands were given freedom after the age of

a. nine b. five ¢. two d. fourteen

12

' d. A is false but R is true.

In the given question given below, there are two gtatement marked

as Assertion (A) and Reason (R),

Read the statement and choose the correct option.

A. It is the primary duty of the government to ensure the well
the people and provide health care facilities to all.

R. The government must safeguard the Righ
a. Both A and R are true and R is the correct explanation 0f A
b. Both A and R are true but R is not the correct explanation of A

c. A is true but R is false

13

Political party that has attained majority i known as

a. Opposition party b. Ruling party

c. Coalition party d. Majority party

are of I

( to Life of every person.

e et e e -t

1

14

Which one of the following is a threat to environment-

a. Growing plant b. Growing Population

¢. Growing crops d. None of these

15

Rocks which contain fossils are

a. Sedimentary rocks b. Metamorphic rocks

c. Igneous rocks d. Intrusive rocks

16

Atmosphere is the domain of water.

a. True b. False

17

Give two examples of Human made environment.

18

One of the natural environments —

e e i e —— STRH
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mm———— /
R b. Building i
| a. Lithosphere
| | d. Family
| | c. Peligion —
' - e measured? —
L_______, - is the eﬂl'thqu { 1
[0 | On which s:lalc b. Richter scale
‘ a. Plane s8¢ d. Divider
| | ¢. Compass
I ; eas ar i
20 | Sand deposits over larger ar € called 1
b.
|, Barchans loess
| c. dunes d. mushroom rocks
SECTION - B
21
|
|
,1-‘ e e - b & _-,-.&&“
Image 1 Image 2
Distinguish between the two maps of India given above:- 2
22 | “Improvement in water and sanitation can control many diseases” - 2
Substantiate this statement with suitable answer.
23 | What do you understand by the term “double - burden”? In which 2
reference is this term used?
24 | There are two types of igneous rocks. Elaborate. 2




A

an MLA is and how is the person elected?

bl
‘x
25 | Suegest Some stors ro— =
b VINE steps taken to ensupe i . , ‘
: d\hu‘\\‘. SUe lhn[ nluq“s I):,,:I‘h)l'l’llt:d lh()ll‘ 3
6 | ldentity any three ine —
| Y any three instances (he e — T Y
| | taxes, Y money collected was used IHoim 3
"7 | Decisions taken by the Clicrin:
=5 aity Y the Chief M m———rr—
1 | . IL’(M My o af* tmreters are
|  debated in the Legislative Ag nister and other Ministers are 3
| i ssembly. Analyse.
28 i lus - T —— e
=0 | lllustrate the features made L e—— ,
R res made by a river in the flood plain. 3
129 | “The : : -_
1 T%R atmosphere is the thin layer of air that surrounds the carth”. 3
__ | Inter ;
- |
N \ . —— _ pra -
30 ‘ Sedimentary rocks are formed from sediments. Justify. 3
5 i =
*- * SECTION -D
- e, L
131 \ a. Summarise the Mughal traditions of succession. 2
1
! l : pro : T
1 ‘ b. Give a brief discussion of the Mughal relation with other rulers. 3 |
: T
Uy = - . !
132 [ Look at the picture and describe the Scenario. S |
|
i
|
1
l
| |
E |
| |
1 |
133 o Who is the head of the state government? 1
b. Usetheterms“constituency”and“represent” toexplainwho 4
|
5

| 34 | Sea water continuously strike at the rocks and its formation keeps

changing. Comment

1
|
i

i e R i — S e




e Juestions

— o extract and anSWe the following questions:
5 i the g1V |
\ g o abdars’ milie? esponsibilities required ther {0 maintain
| i e Mz'u;_ 4 oum of sawar Of cavalrymen. The mmslbd-m
k e e ;:, cavalryme? for review, got them registered their horses
::ﬁ::j and theo received money 10 Pay his salary.
l

1 :
| Answer the following M

——_—

CQ'S, by choosing the most appropnate

i Wealth il Gtatus  1v. Horses

system ased by the Mughals in order o fix:

i. Rank

35b. The grading

i Rank ii. military mpoasibililics iii. salary iv. All of the above

35¢.Jagirs are similar to

i. Zat ih. Iqtas iii. Mugtis  iv. None of the above

35d.Mansabdars recelved their salaries as revenue assignments

i called ;

1.Zabt iv. Bigot

i Watan i Jagirs

S ————

36 | Read the given extract and answer

the following questions.

There are several laws in India
treated equally. In addition to |
several schemes to improve the |
who have been treated uncqually

that protect every person’s fight o be |
aws, the govemment has also sct Up |
ives of communities and individuals |
for several centurics. These schemes i

e i, o i e A o

| are to ensure greater opportunity for people who have not had this in |
the past. One of the steps taken by the government includes the mid- |
- day meal scheme. "

| |Answer the following questions:-
I | 36a. What is Mid-day meal programme?




| 36b.Whi g

| %:}ﬁghlighr v %‘L’tx‘te:x? 1

o o0 5 15 5 dench of 2900 km. below
: m.‘#’? 0% nicke! and iron and is called nife

i ** H0a). The central core has very high
‘tempcrann-emxipresawe

t
‘
i
X
¢
i
f
[

P m— -

f. % Nalmrwomm constituents of the continental mass? 1
< “’mﬁﬂflmmostla}'erec:t-e earth’s surface? 1
' 3. Define “Rock” 1
. 4. List out two uses of rocks. | 1

: | . B
138 SECTION-E 7_
. Map Work:
a. Identify the following in the given map of India :-

2 'IhiSpanofthepeoplehaveinvoh'edmﬂ:e e struggle. '. =

(]

)
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